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Rode baksteen
Baksteen kalei wit
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Stalen ligger

15 2.5m

0.5

Stalen ligger zwart
Stalen ligger wit

a
b.

©
[
£
—
<
w
[J]
[a's ©
' c
©
e -
oo 7]
c 0§ 1
© (o] (o)} ]
o [ o ]
)] o U]
~ S ~ o
o X} N
: So00 3
n Q W S~
N O =N [G)
N2 A=
o
<
.. iz g
©
i3] [
L . 2% E g
S| § 5 & 3
o a - un 0O )
(= o B
S 258
593 -
RS 32 28
(=) [l 3 59
G g 2°
< 3 ° =
3 et eS
b= [7) S
s 2 S
< <
[
&
£
[
o)
=]
I
©
c
©
£ .
1= 5
< o
3 . =
K g w
e 3w
e 35
; o 9 T,
/ e 2 G5
g 8 50
- = O
® T £8
O < 56
h=
¥ ¢3
£ Re
= ccE =
¢ co3 2
ccg5 =
= ccow
O T oo S
= aosv @ g
= QO o < [0}
cc @0 % o
o EENOQ =2 ©
- OoeWtssr
T S o =] O ©
2cooo2c3225
NDomMMNMXxX T 3® Wv
Qo cc -850 a
o) S OCEQ-®
7} 0 2C=- 5SS &
TE a0l 0 ¢
1S SO0ComE g2
S c=2x 220620
. O L,OS oo oo =
sl comMmMOO=2nm<I
. A -
3] TWON®OD~ —




